MATHEMATICS

Maximum Marks- 80

Time allowed: Two and half hours

Answer. is P : , , i
ers to this Paper must be wrilten on the paper provided separately b

You will not be allowed 19 write during first 15 minutes.

This time is to be spent in reading the question paper.

The time given at the head of this Paper is the time allowed for writing the answers.

Attempt all questions from Section A and any four questions from Section B.

All working, including rough work, must be clear! ly shown, and must be done on the same sheet as the
rest of the answer.
Omission of essential working will result in loss of marks.

The intended marks for questions or parts of questions are given in brackets [ |

Mathematical tables and graph papers are fo be provided by the school.

SECTION A (40 Marks)

(Artemprt all questions from this Section.)

Question 1

~omrect answers to the questions from the given options. [15]
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(Do not copy the guestions, write the correct answers only.)
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For an Intra-state sale, the CGST paid by a dealer to the Central government is
or H ,

Z 120. If the marked price of the article is Z 2000, the rate of GST is:

(a) 6%
1*33 I'(f‘ﬁ
ey 12%
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Points A (x, ¥). B (3, -2) and C (4, -5) are collinear. The value of y in lerms of x is
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at o uniform speed along o stralght track

I istance (inn)

[ime (In sec)
[he values of x and y are;
() x=4,y=150
(b) x=3,y=100
() x=4,y=100

() x=3,p=150

The 7" term of the given Arithmetic Progr
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Sratement | sin® 0 + cos?f =1

Qratement 2. cosec? ) + cot’ § = 1
Which of the following is valid?

(a) onlyl

(b) only?2

(c) bothl and 2

(d) neither 1 nor 2

In the given diagram, PS and PT are the tangents to the circle. SQ PT and

/SPT = 80°. The value of £QST is:

(a) 140°
®) 90°
) & p
(c) 80° 0
d) 50°
(d) 4

ability of getting an even

Assertion (A): A die is thrown once and the prob
2

number is G

Reason (R):  The sample space for even numbers on a die is {2, 4, 6}

(a) Aistrue, R is false.

(b) Ais false, R is true.

(c) BothA and R are true.
(d) BothA and R and false.

A rectangular sheet of paper of size 11 cm x 7 cm is first rotated about the side

11 em and then about the side 7 em to form a cylinder, as shown in the diagram.

The ratio of their curved surface areas 1s:

@ 1:1
- 5 s (el
o 3]
r >
(&) 11:7 1l cm
- - 11 em
m m
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AABU < APQR 11 AD and PS e bisocions of

Questren 2
a1 1 y 1)L = 1
F

nd the vabaes of x ady fAB=C

A sobad metallic cylinder is cut into two identical halves
;::‘:céngmnlmdhmuoﬂnql‘nduis1mnd
(@) Ttrm&tfmc-u(ho&dcﬂvzs).
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(m) 15,30, 60, 120... are in G.P. (
4#r~ Find the n® term of this G.P.

(b) How many terms of the

!

Question 3
(1) Factonize: sin36 +

4]
Hence, prove the fc




) In the given diagram, O is the centre of the cirvle: PR and PT are two tangents 11

\ . (!

dranwn from the external pont P and ouching the cirele at Q and 8 respectively

MN s a diameter of the cirele. Given « PQNL = 42" and o PSM = 287

Find:

- &
@ JOQM =4¥
® <ONS ~69° ; 0
AN
© LQOS wa* )
@ <QMs N\
P
() Use graph sheet for this question. Take 2 em = 1 unit along the axes. (N

@  Plot A 3), BQ. 1) and C(&, -1).

(®  Reflect pont B and C in paxis and name their images as B' and ¢!
respectively. Plot and write coordinates of the points B' and €',

(¢)  Reflect point A in the line BB' and name its images as A,

(d) Plot and write coordinates of point A'.

(@) Join the points ABA'B' and give the geometrical name of the closed figure so
formed.

SECTION B (40 Marks)
(Arrempt any four questions from this Section.)

Question 4

#7  Suresh has a recurning deposit account in a bank. He deposits ¥ 2000 per month and the
bank pavs interest at the rate of 8% per annum. If he gets ¥ 1040 as interest at the time of
maturity. find in years total ime for which the account was held.

@ The following table gives the duration of movies in minutes,
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O A e
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Que
2 PO 3 + 8 — 15x + & has (x - 1) as a factor. Find the value of k. Hence  [3]
wetorize the resulting polynomial completely.
S stters A.D.M, N, O, S, U, Y of the English alphabet are written on separate  [3]
~ards and put i a box. The cards are W ell shuftled and one card is drawn at random. What
< the probability that the card drawn is a letter of the word,
MONDAY?
> ch does not appear in MOND AY?
< hich appears both in SUNDAY and MONDAY?
Oil is stored in a spherical vessel occupying 3/4 of its full capacity. Radius of this spherical  [4]
el is 28 em. This oil is then poured into a ¢y lindrical vessel with a radius of 21 cm.
nd the height of the oul m the cylindrical vessel (correct to the nearest cm).
22
Take ® = —
<>
21 em
Quescea ?
The Sgure shows a arcle of radius 9 cm with O as the centre. The diameter AB produced  [3]
mests the @NEeD ot P If PA = 24 cm, find the length of tangent PQ.
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(1)  Mr Gupia invested Z 33000 in buying T 100 shares of a company at 10% premium. The  [3]

dividend declared by the company is 12%. Find
(a) the number of shares purchased by him.

(by his annual dividend.

i o 25 of lic 4
(1) A life insurance agent found the following data for distribution of ages of 100 policy (4]

holders

Age in years I Ppolicy Holders | Cumulative frequency
(frequency)

7 Y S e 2
| 25 - 30 | 4 6
| 30 - 35 12 18
| 35 - 40 20 38
1 40 - 45 28 66
L 45 - 50 22 88
f 50 - 55 g 96
| 55 — 60 4 100

On a graph sheet draw an ogive using the given data. Take 2 cm = 5 years along one axis
and 2 cm = 10 policy holders along the other axis, Use your graph to find:

(a) The median age.

(b) Number of policy holders whose age is above 52 years.

Q U}
(7~ Rohan bought the following eatables for his friends : 3]
Soham Sweet Mart : Bill
S. No. Item Price Quantity Rate of GST
1 Laddu Z 500 per kg 2kg 5%
2 Pastries Z 100 per piece 12 pieces 18%
Caleulate

() Total GST paid.
(b) Total bill amount inchuding GST.
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